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@ 	áÓ

:  A¡r�

. iJ
j�� XY« a

a ≡ a[n] : é
	
JÓ ð n úÎ«

�
éK
YJ
Ê

�
¯B



@

�
éÒ�

�
®Ë@ ú




	
¯ ú




�
¯AJ. Ë @ �

	
®

	
K AÒêË a ð a

: �A��

−5 ≡ −5[7] ''' 2 ≡ 2[11] E

:«®» Ty}A�

.
	
àAjJ
j��

	
à@XY« b ð a . ÐðYªÓ Q�


	
« ù



ªJ
J.£ XY« n

. b ≡ a[n] :
	
àA




	
¯ a ≡ b[n] :

	
àA¿ @

	
X @



:�y¡Afm�� ºAn�
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X 15

:  A¡r�

. a ≡ b[n] �
IJ
k

	
àAjJ
j��

	
à@XY« b ð a

b− a = −kn : é
	
JÓ ð iJ
j�� XY« k ©Ó a− b = kn : ú




	
æªK
 a ≡ b[n]

b ≡ a[n] :
	
àA




	
¯ iJ
j�� XY« −k :

	
à



@ AÒ�K.

: �A��

2 ≡ 11[3] :
	
à

	
X@



11 ≡ 2[3] : A
	
JK
YË E

:«¯» Ty}A�

.
�
éjJ
j�� X@Y«



@ c ð b , a . ÐðYªÓ Q�


	
« ù



ªJ
J.£ XY« n

. a ≡ c[n] :
	
àA




	
¯ ( b ≡ c[n] ð a ≡ b[n] ) :

	
àA¿ @

	
X @



:  A¡r�

. ( b ≡ c[n] ð a ≡ b[n] ) �
IJ
k

�
éjJ
j�� X@Y«



@ c ð b , a

	
à@XY« k′

ð k ©Ó b− c = k′n ð a− b = kn : ú



	
æªK
 ( b ≡ c[n] ð a ≡ b[n] )

a− c = (k + k′)n : úÎ« É�j�
	
K ©Òm.

Ì'AK. ð é
	
JÓ ð

	
àAjJ
j��

a ≡ c[n] :
	
àA




	
¯ iJ
j�� XY« k + k′

:
	
à



@ AÒ�K.

: �A��

. 26 ≡ 1[5] :
	
àA




	
¯ ( 11 ≡ 1[5] ð 26 ≡ 11[5] )

:«°» Ty}A�

.
�
éjJ
j�� X@Y«



@ d ð c , b , a . ÐðYªÓ Q�


	
« ù



ªJ
J.£ XY« n

. a + c ≡ b + d[n] :
	

àA



	
¯ ( c ≡ d[n] ð a ≡ b[n] ) :

	
àA¿ @

	
X @



:  A¡r�

. ( c ≡ d[n] ð a ≡ b[n] ) �
IJ
k

�
éjJ
j�� X@Y«



@ d ð c , b , a

	
à@XY« k′

ð k ©Ó c− d = k′n ð a− b = kn : ú



	
æªK
 ( c ≡ d[n] ð a ≡ b[n] )

(a + c)− (b + d) = (k + k′)n : úÎ« É�j�
	
K ©Òm.

Ì'AK. ð é
	
JÓ ð

	
àAjJ
j��

a + c ≡ b + d[n] :
	
àA




	
¯ iJ
j�� XY« k + k′

:
	
à



@ AÒ�K.

: �A��

. 27 + 23 ≡ 11 + 15[4] :
	
àA




	
¯ ( 23 ≡ 15[4] ð 27 ≡ 11[4] )

:«±» Ty}A�

.
�
éjJ
j�� X@Y«



@ d ð c , b , a . ÐðYªÓ Q�


	
« ù



ªJ
J.£ XY« n

. ac ≡ bd[n] :
	

àA



	
¯ ( c ≡ d[n] ð a ≡ b[n] ) :

	
àA¿ @

	
X @



:�y¡Afm�� ºAn�
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:  A¡r�

. ( c ≡ d[n] ð a ≡ b[n] ) �
IJ
k

�
éjJ
j�� X@Y«



@ d ð c , b , a

c− d = k′n ð a− b = kn : ú



	
æªK
 ( c ≡ d[n] ð a ≡ b[n] )

: é
	
JÓ ð ,

	
àAjJ
j��

	
à@XY« k′

ð k : ©Ó

ac−bd = ac−ad+ad−bd = a(c−d)+d(a−b) = ak′n+dkn = (ak′ +dk)n
ac ≡ bd[n] :

	
àA




	
¯ iJ
j�� XY« a′k + dk :

	
à



@ AÒ�K.

: �A��

. 13× 7 ≡ 5× 3[4] :
	
àA




	
¯ ( 7 ≡ 3[4] ð 13 ≡ 5[4] )

:«²» Ty}A�

.
	
àAjJ
j��

	
à@XY« b ð a . ÐðYªÓ Q�


	
« ù



ªJ
J.£ XY« n

. ka ≡ kb[n] :
	

àA



	
¯ a ≡ b[n] :

	
àA¿ @

	
X @



, k iJ
j�� XY« É¿ Ég.



@ 	áÓ

:  A¡r�

. AjJ
j�� @XY« k 	áºJ


�
Ë a ≡ b[n] :

�
IJ
k

	
àAjJ
j��

	
à@XY« b ð a

ka ≡ kb[n] : Ym.
�

	
' 6 �

éJ
�A
	
mÌ'@

�
�J
J.¢

�
�K.

	
à

	
X@



k ≡ k[n] : A
	
JK
YË

: �A��

. 2× 11 ≡ 2× 3[4] :
	
àA




	
¯ 11 ≡ 3[4]

:«³» Ty}A�

.
	

àAjJ
j��
	
à@XY« b ð a .

	á�
ÓðYªÓ Q�

	
«

	
àAJ
ªJ
J.£

	
à@XY« p ð n

. ap ≡ bp[n] :
	
àA




	
¯ a ≡ b[n] :

	
àA¿ @

	
X @



:  A¡r�

. ( ©k. @Q
�
�ËAK.

	
àAëQ�. Ë @ ÉÒª

�
J�

	
� ) . a ≡ b[n] :

�
IJ
k

	
àAjJ
j��

	
à@XY« b ð a

.
�

HAJ
¢ªÖÏ @ 	áÓ
�
éjJ
j�� a ≡ b[n] : A

	
JK
YË p = 1 Ég.



@ 	áÓ

. k ≥ 1 ù


ªJ
J.£ XY« É¿ Ég.



@ 	áÓ

�
éjJ
j�� ak ≡ bk[n] 	

à


@

	
�Q

	
®

	
K

. ak+1 ≡ bk+1[n] : ø





@ ak × a ≡ bk × b[n] : 7 �

éJ
�A
	
mÌ'@

�
�J
J.¢

�
�K.

a ≡ b[n] :
	
àA¿ @

	
X @



: p ÐðYªÓ Q�

	
« ù



ªJ
J.£ XY« É¿ Ég.



@ 	áÓ :

	
à

	
X@



. ap ≡ bp[n] :
	
àA




	
¯

: �A��

. 53 ≡ 13[2] :
	
àA




	
¯ 5 ≡ 1[2]

:�y¡Afm�� ºAn�
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: ¨qybW� �§rm�

. 5 úÎ« 3n
XYªÊË

�
éK
YJ
Ê

�
¯B



@

�
éÒ�

�
®Ë@ ú




�
¯AK. n ù



ªJ
J.¢Ë@ XYªË@ Õæ




�
¯ I. �k

	á�
« ¬

. 5 úÎ« 14372017
XYªÊË

�
éK
YJ
Ê

�
¯B



@

�
éÒ�

�
®Ë@ ú




�
¯AK. i.

�
J
	
�
�
J��@ ­

( 484n+3 − 2× 92n+1 + 1 ) XYªË@ n ù


ªJ
J.£ XY« É¿ Ég.



@ 	áÓ é

	
K


@ 	áëQK. ®

. 5 XYªÊË
	

­«A
	

�Ó

( 34n + 27n − 4 ) XYªË@
	
àñºK
 ú

�
æk n ù



ªJ
J.¢Ë@ XYªË@ Õæ




�
¯

	á�
« ¯

. 5 úÎ«
�
éÒ�

�
®ÊË CK. A

�
¯

: ¨qybWt�� �§rmt�� ��

34 ≡ 1[5] , 33 ≡ 2[5] , 32 ≡ 4[5] , 31 ≡ 3[5] , 30 ≡ 1[5] : A
	
JK
YË ¬

: ú


ÍA

�
JË @ ÈðYm.

Ì'@ I. �k ð 4 AëPðX ð
�
éK
PðX

�
éJ
ËA

�
J
�
JÓ É¾

�
�

�
� 5 úÎ« 3n �

éÒ�
�
¯ ú




�
¯@ñK.

( (−3) ≡ 2[5] :
	
à



B ) 1437 ≡ (−3)[5] : ø






@ 1437 ≡ 2[5] : A

	
JK
YË ­

(−3)2017 ≡ (−1)2017 × 34(504)+1[5] : 	áºË 14372017 ≡ (−3)2017[5] : ø





@

(−1)2017 = −1 ð 34(504)+1 ≡ 3[5] :
	
à



B 14372017 ≡ (−3)[5] : é

	
JÓ ð

. 14372017 ≡ 2[5] : Zú



	
¯A¾

�
K 14372017 ≡ (−3)[5] :

	
à

	
X@



. 2 : ñë 5 úÎ« 14372017
XYªÊË

�
éK
YJ
Ê

�
¯B



@

�
éÒ�

�
®Ë@ ú




�
¯AK. : ú



ÍA

�
JËAK. ð

5 XYªÊË
	

­«A
	

�Ó ( 484n+3 − 2× 92n+1 + 1 ) XYªË@ ®

(484n+3 − 2× 92n+1 + 1) ≡ 0[5] : èA
	
JªÓ

484n+3 ≡ 34n+3[5] : é
	
JÓ ð 48 ≡ 3[5] : A

	
JK
YË

( ÈðYm.
Ì'@ I. �k ) 484n+3 ≡ 2[5] : ø






@

( ÈðYm.
Ì'@ I. �k ) 92n+1 ≡ 34n+2[5] : A

	
JK
YË ð

(484n+3 − 2× 92n+1 + 1) ≡ 2− 2× 4 + 1[5] : éJ
Ê« ð

(484n+3 − 2× 92n+1 + 1) ≡ −5[5] : ø





@

(484n+3 − 2× 92n+1 + 1) ≡ 0[5] :
	
à

	
X@


−5 ≡ 0[5] : 	áºË

5 úÎ«
�
éÒ�

�
®ÊË CK. A

�
¯ ( 34n + 27n − 4 ) XYªË@ ¯

(34n + 27n − 4) ≡ 0[5] : èA
	
JªÓ

34n ≡ 1[5] : A
	
JK
YË ð 27n ≡ 33n[5] : A

	
JK
YË

33n ≡ 3[5] : Zú



	
¯A¾

�
K (34n + 27n − 4) ≡ 0[5] : é

	
JÓ ð

n ≡ 3[4] : ø





@ 3n ≡ 1[4] :

	
à



@ i.

�
J
	
�
�
J��

	
� ÈðYm.

Ì'@ 	áÓ

. p ∈ N :
�

IJ
k n = 4p + 3 :
	
à

	
X@
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